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Solutions – Trigonometry Topic Test – Mu Division

1. Since 
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 is an irrational number there are an infinite number of petals, by definition.
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3. The function in the neighborhood of 
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5. Using the law of cosines at time 
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, so the distance between the two points at 
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, since we are looking for the distance they are moving apart or 
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, plugging in for the various given and derived values gives us: 
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10. 
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11. At x=0, we can see that dy/dx=1. This eliminates all answers except B and E, noticing that the x interval is 
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13. 
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16. 
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. This equation to the left is now in the standard form for the limit form of the derivative. With
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18. Define 
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The third derivate term of the series will be divided by 3!, so the answer is 1/3.
19. The parametric equations define an ellipse, the question is asking for the perimeter of the ellipse, it is well known that the perimeter of an ellipse cannot be evaluated exactly. The integral if set up, is an elliptic integral which cannot be solved precisely. 

20. We know that 
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, rewriting to get a polynomial equation in terms of x and y, yields
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22. Set 
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25. For ease of explanation 
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26. Yes. 
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Only the first one holds true. 1
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28. The maximum of a function of the form 
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and only II and IV are true.
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